
Using Ratio Equations Lesson 8     Name _________________   

1. Find the ratio between the sentences and write the answer 

2. Place the answer in the box provided. 

3. When you have completed all Ratios scan in the QR code to see                                                      

if you have them correct. 

1) Every pint is 2 cups. This can be expressed 

using the equation y × 2 = Z, where y is 

equal to the number of pints and Z is equal 

to the total number of cups. Using this 

equation find the total cups in 5 pints. 

2) Every liter is 1,000 mil liters. This can be 

expressed using the equation y × 1,000 = Z, 

where y is equal to the number of liters and Z is 

equal to the total number of mil liters. 

Using this equation find the total mil liters in 10 

liters. 

3) Every gallon is 4 quarts. This can be 

expressed using the equation y × 4 = Z, where y 

is equal to the number of gallons and Z is equal 

to the total number of quarts. Using 

this equation find the total quarts in 5 gallons. 

4) For each kilogram there are 1,000 grams. This 

can be expressed using the equation y × 

1,000 = Z, where y is equal to the number of 

kilogram and Z is equal to the total 

number of grams. Using this equation find the total 

grams in 9 kilograms. 

 

 

 

5) Every quarter is 5 nickels. This can be 

expressed using the equation y × 5 = Z, where y 

is equal to the number of quarters and Z is equal 

to the total number of nickels. Using 

this equation find the total nickels in 7 quarters. 

 

6) Every quarter is 25 pennies. This can be 

expressed using the equation y × 25 = Z, 

where y is equal to the number of quarters and Z is 

equal to the total number of 

pennies. Using this equation find the total pennies 

in 5 quarters. 

7) Every foot is 12 inches. This can be expressed 

using the equation y × 12 = Z, where y 

is equal to the number of feet and Z is equal to 

the total number of inches. Using this 

equation find the total inches in 10 feet. 

8) Every centimeter is 10 millimeters. This can be 

expressed using the equation y × 10 = 

Z, where y is equal to the number of centimeters 

and Z is equal to the total number of 

Millimeters. Using this equation find the total 

millimeters in 10 centimeters. 

 


